Honors Advanced Algebra DATE:

Adding & Subtracting Rational Expressions

Target 3A. Perform operations with rational expressions to demonstrate the analogy with integers.
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Add and Subtract Rational Expressions
As with fractions to add or subtract rational expressions you must have common denominators.
If you do not already have common denominators find the lowest common denominator first.
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Remember, to add or subtract rational expressions, you must have common denominators (just

like with fractions). Fachor m Frest

i , R (x-
Simplify. You try it © -3.3 . %‘Xéi’?i)
(X=X 3x+ )
e e
1 @_'_x_«}-? i~ m}_ 2. ok —_ (4x+3’ 3 Very Impertawt to
x+5  x+5 X45 3x2—%—-2 3Bx?-x-2 Pyt pasentresss @
_ Fls anovnd expreysfon w/ movd
we. hawt -l‘uxu’ F s = i HW
Conummn @ (K"‘)(}}(-l-?.) (X'l)(.'b)q-a)
deseminaters =  Ix+S Xt3) _ AXET-YX-B | 3x4+T
(K"l)(:‘fﬂ-i) (1(-1)(3x+'1_.) (K"‘I)(}l*t)
e [t
L 5_3 x-I
S xty oy 6r 2r2
= ..._.--.-—5_ .S_, = 3_.._ 3 - 5r
2:30 ¢ 20 3 T Tgea TR
= lﬁ
Ge?
A |
5 S _2 _ 1 6 S_L, 1
im im 6em 2a 3a 6a
= 3 3 | Q !
—_—— = — 4
= ._S..——-.B_. = .-'2‘--3’..:.1 - ..1_._.1 aa 3 da. A X 3a
Im 2T TTm 32 23Im F
s = L .2 . 1
= N I ba Ga beoo
4am bam am
= ";-24-1____&‘_4’2&:‘-{)
- 10 - 12-—'{—ﬁ_ - S = .S Lo oo A 3. {"ga'



x—2 6 2 3
Tt ng 8 ot
= ?'(i‘—'__%)— + 6 = 2 69 3 (x4
(< —1) F(x-) *=) &) <-5) &)
ALY
_ HX =2) + ¢ = 1@5’) +3§}0
FHX~1) o (X=1)(x-5)
= IX—M 46 _ [Ix -9 = dX o kK-35 | | SH-13
7 (x—1) 10¢1) =3¢ ¥-5) (-x-5)
x+10  3x-15 6 5
* 3x-15  6x-30 T d?+4d+4 0 d+2
g O . il 2 o S -\
3(x —5) G(x-$) (d+4r2) a Sz (dr2)
= X 2 ,
w’—iﬂ a% ....QX_”") — G + S'Ejf—\l)
5) 2:3(x-5) — ——
(de2Y\+2)
. M); — LZ’E"%L = ¢ +Sd +io
6 (x-S, X-
G2+ 2)
| 2GS SN | axe sdxtis
GLX"'S_) G()C—IS') = )_Slﬂ_&i.—-_
= [ —X s dr2)* l
Complex Fractions 6(x—5) e
A complex fraction is a rational expression whose numerator and/or denominator contain a
rational expression. .50 M S Fiie
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